Foundations of Math 9 Updated May 2019

Name: BEY

Final Exam Practice Pack — Section 7

SLOPE-INTERCEPT FORM: y=mx+b

» The variables in this equation are very important

. RISE

o Them: s the SLOPE of the line, represented .
o RISE CHANGE IN HEIGHT
RUN CHANGE IN LENGTH

o The Slope is the same from any point on the line to another

o The SLOPE stays constant
The b: Is the y — intercept, where the line crosses the y — axis
Why b and not y then?

You will soon find out...

Lastly, the x and y.
They represent the (x,y) coordinates of every possible point on the line

So, why b for the y F_int?

(0,5) ~_
> Have a look at the grid | No matter
» No matter where you cross i where it g
the y — axis, what is the x — value? erossasithe ‘ EE
> Itis always, 0 | x — valueis 0 Al

|
A

> So every y — intercept, has the coordinates: (0, b)

The b, is wherever it crosses the y — axis.
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STANDARD FORM: Ax+ By =~C

Example:

Let’s graph this: x+y=4%4

e Set yourself up a Table of Values
e ltreads, whenxis.. yis..

i) When xis 0

O+y =4
y=4%

Updated May 2019

x y
0 4
4 0
-4 8

. @ For the third point you can pick anything

if) Whenyis 0
x+ 0 =4

e | highly suggest you take the value that you got
x =4 when you solved for x, and flip the sign
i) When x is — 4 e [f it was positive use the negative of it, and vice versa
—d+y=4 | & In this case we will take —4
y=4+4 i
y — 8 L """"""""""""""" e e e =

e So with the completed table of values we can graph it now

e We have three points:

(0,4),(4,0),and (—4,8)
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x y
0 4
4 0
—4 8
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1. Map the following Coordinate (x,y) on the 2-D plane (GRID)

A(=1,3) B(9,1) Ts
C(—4,-4) D(7,-7) A
G(—8,-2) H(0,2) :
Ay 3
AH
: 8
EEEEEEEEEN REEEERNARNA
i -2
= ;ﬂ s~
6
-7 D
2. ldentify the Coordinates of the given points
.y
9
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¥
L6
B @t
‘(--I.S 5
3 %)
2
1_:3. -8 % -6-5-4-3-2- -_1 : > 3 4 — ngr}‘
| 5 | {27
( 35D tia
@ 5
= 4B 8 )
7 .

3. What does it mean to be a solution to an equation with respect to coordinates of a point?
“ yoo- f(ua\s e Q(J\/) of o ror'd wdo e %y i~ y;mx*b
Aha %w(@ shoobd stoy baloacsct
4. What is the y — intercept? What is the x-coordinate of every y — intercept point? Example?

L..Luo Q\L‘L 3(4()(/\ (oD %cs Mf\ Y-O-\éks 3 sccooldq\ajf- s O
Wf(;/: (OJ‘"Q
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5. Whatisthe x — intercept? What is the y-coordinate of every x — intercept point? Example?
u.l;.«, (LL ﬂfA(L C oS5 (L’, Y—axLs : y,cm(oh-obl i« O
EOLOM#-“‘ C 6_)0>

6. For the sake of our Math Vocabulary then:

Rise

VAV

SLOPE = -

7. Are the following points solutions to the given equations? Are they POINTS on the given LINE?
A) (1,-6) y=-2x+4

_.é = -'L+L-‘

B) (0,-5)  y=Zix-5

g 6 -S> 7§ {\\//E';_‘

0 (-21) y=-Ix+4

[=-3(-2) +¥
2 O

[= 348 =T

D) (8,-2) y= —§x+ 1

-2 < _._“(6)“(\
-2z —|+)
_Z;O
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8. What is the SLOPE and Y-INTERCEPT of the following lines?

104
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Slope = =%s: Slope = 2 _
y—int = (0,-2) y—int= (04)

9. Graph the following lines.

a) y=2x'—7 . ‘ .. b)- ?'y'z—-—x+9
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10. Are the following points solutions to the given equations? Are they POINTS on the given LINE?

a) (-2,4) 2x+3y=8
262X =8 ~Hnes e ‘Yes&
%=-9
b) (—6,1) “x+13y = 14
QB 1 3=
€
1214 I@
o (8,-2) 2x—y =12
AN-CD=2  g.pp
6+2 =tz
d) (=3,-4) —4x -2y =4
~Y D) ~2H) *«:(j* 20 >4 @
‘l+‘3 =4

11. Graph the following equations, use the table of values to organize your coordinates.

N0
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)  4x+5y=20

o C|-F |k

\
I

(J\)[\)OI%
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12. Using your algebraic logic, manipulate the STANDARD FORM equations in to SLOPE-

IS

INTERCEPT equations and graph them.

2!*3);:-‘1
= -, | L
a) o7 iy ) e 4
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d) §x+§y=—2

Zy=-L1x -2 e

° ¢ HEm

O

2 3=l ~ 2(ﬁ> | rH

y 26 < EEEENEREEENNE LN

| S
Y: —y-3 ok e : .

13. Using your algebraic logic, manipulate the SLOPE-INTERCEPT to STANDARD FORM,
remember that Ax + By = C has NO FRACTIONS and 4 > {]

1ymeme [ 2y o4 J
xx

§  ax
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b) y=-3x+5
&3y Y3

<) y:—Sx—g

LSv .\—§><

)
[s4 ] —

d 7—3x=y
A2 3

16. Which graph represents .y=2x+6 . Howdoyouknow?
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17. Which graph represents 2x+y=8 How do you know?
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19. Which graph represents 3x+ 2y =12 How do you know?
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21. Which equation matches the graph below:
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22. Write the equation of the following graph in SLOPE-INTERCEPT form, then
manipulate it to STANDARD FORM . : i
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